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Social Work

Paper 1I

TSR
g9uRreRTt 11

Time Allowed : 75 Minutes]
Note : This paper contains Fifty (50) multiple choice questions, each carrying

[Maximum Marks : 100

Two (2) marks. Attempt All questions.

~

0 . W Y gred.

AT ¢ A YRR HE THU TR (50) SgERE 9 fooiel SR s YeAel @ (2)

The book ‘Theory for Social Work
Practice’ which deals with unified
approach is by ............. .

(A) Gisella Konopka
(B) William Schwartz
(C) Dorothea Spellman
(D) Ruth Smalley

Which of the following is the major
hurdle for the development of social

work profession in India ?

(A) Lack of National Ilevel
accrediting body

(B) Lack of Ministry of Social Work
Education

(C) Lack of University level
facilities for social work

education

(D) Lack of trained social work
educators

Teh R0l GftahIuTeTeIdd * AT R HIeTel

(A) TSET SR
(B) foeoq w@rdg
(C) SNl Ferq
(D) &Y Tl

RATdTe SATIaT s TATS] hTi =

fawm@rda 9qE ATH TITeerdsh]
o ?

(A) TS TRE JHIUERTOT o=l
IO AN
(B) wHIRE fRiaor Hare@m= SAvE

(C) gHSRTE  fereromaeea fa=mdis
W gfagmn a9E

(D) wfviferd TSR foerepren s1amma

[P.T.O.



Which one of the following is a role
unique to the social work

professional ?

(A) Home visits

(B) Referrals

(C) Counselling

(D) Group psychotherapy

The principle of non-judgemental
attitude is based on the belief that

social work does not include ............. .
(A) Assigning guilt or innocence
(B) Judging wrongly

(C) Prejudice mind

(D) Negativism

Helen Phillips has described ‘skill’

AS cereereeeeene .
(A) Practice

(B) Competency

(C) Knowledge in action

(D) Attitude

DEC-20213/11

TSR ARG Tohdd T30
Jeredent ot fieR g 2

(A) TR

(B) freferd =0 (Yheed)

(C) TR

(D) e HTHTER

1 ae7art gfteshivme’ d © 99 i

(A) eTquet fhar fROufyE SEm
(B) gehi=n fafe
(C) gerggftd w4




Which one of the following does not

feature in the Indian Constitution ?

(A) Federal structure

(B) Central government

(C) Separation of judiciary

(D) Fundamental rights of the
citizens

Assertion (A) : Socialisation is a

significant process of human groups.

Reason (R) : Long period of

dependency allows children to learn

things they need to know.

Choose your answer from the

following :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true,
but (R) is not the correct

explanation of (A)
(C) (A) is true, but (R) is false

(D) Both (A) and (R) are false

6.
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YR TTEETHE] Eleflaidehl I
AR 3T@eed AT ?

(A) TS AT
(B) 3% WHR
(C) =g favrem

(D) AFReR HAYd TFh

faem (A) : ISRt € Jre JHEE

3d HeaTEl Ulhan 3T,

HRUT (R) : fShies WaeisH gan o

foreRTed oed o ReRvarE STl <.

Eeftdl TR gHe I IW e

(A) (A) 3T (R) =T8!SR 3Tred 3T
R) & (A) < 7Y TR IR

N A

(B) (A) 3701 (R) Srelel sieR 3Aed 91

R) ¥ (A) I I TR R

(C) (A) % SR 378 90 (R) <ehid
3T

N (AW aY [aV

(D) (A) 3 (R) B SEIE Fehi= 3R

[P.T.O.



10.

Talcott Parsons was an early

subscriber to :

(A) Action theory
(B) Change theory
(C) System theory
(D) Control theory

In some societies a life partner must
be chosen from a different social

group than one’s own :
(A) Polygamy

(B) Endogamy

(C) Exogamy

(D) Polygene

The National Rural Employment
Guarantee Scheme promises to give

employment to :

(A) One member of every eligible

rural family in India

(B) Two members of every eligible

rural family in India

(C) All members, except children, of
every eligible rural family in

India

(D) 25% of all eligible rural families

in every village in India

10.
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dldshe =0 T WIelcddah! hIvrcl

fgiare geardiuRTe q&hd od 2
(A) Fdt fagia

(B) =<t fagid

(C) =ereen fogma

(D) T fagi

FTE GUSTHEY = TS GYereAfdfied

TR HHIS FHRIAA Sifed Fiefier fHergan
STAl A A hE WU ?

(A) wgfaeme qgdt
(B) 3i@fe faame

(C) dfesfoare
(D) =gt foreme
TSI TTHTT AR BHY AT Teierdeh]
IOl ASFTRT= &Hl <d 2

ARANd Jedeh 91 T et
Tehl HHTedl
ARANT Jedeh 9T T SHeardiat
T HEE
ARANIT Jedeh 91 T St

AeTeAfaie dd IE&Hl

(A)

(B)

(©)

URATd e Teadial 25% T
THTOT el

(D)




11.

12.

13.

The five-factor model of personality

includes ......ccccceue. .
(A) Social interactionism
(B) Neuroticism

(C) Agreeableness

(D) Sense of humour

Electra complex is a situation found

IN e .
(A) Oral stage
(B) Anal stage
(C) Phallic stage
(D) Latency stage

What research method was used by

Freud ?

(A) Survey research

(B) Correlational method

(C) Naturalistic observation

method

(D) Case study method

11.

12.

13.
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AfHFHETAT U= Fehi<l Fiahd Jerd

SEhT GHIOR &Hld

NI IS E R IRRE RIS

(a)

(B) HSoraeq faapdi

(C) 99—
(D) foAe &t

‘TITe’ (Sorg iR ) B el Ereiiatient
SHIvTeH] AT A ?

(A) A B
(B) e B
(C) wifetsh &S
(D) ol S

e YeIcTush! IO HENEA gl
At ?

(A) T qgat

(B) TgdaY gl

(C) ~ufifer fieo wgdt

(D) =afte a9 ggdl

[P.T.O.



14.

15.

Ivan Pavlov has bean credited with

the initial discovery of .................. .
(A) Operant conditioning

(B) Reinforcement

(C) Classical conditioning

(D) Conditioning

Match the following pairs and select

the correct answer using the code
given below :

List I List II
(@ S. Freud (i) Hierarchy of needs
(b) Erich Fromm (i) Child development
(¢) Abraham Maslow (i) The unconscious
(d) Elizabeth Hurlock (iv) Freedom
Codes

(@ & (©© @@

(A G Go) @) (ii)
B) @ @ O Gi)
((O) G ) Gv) ()

D) G (Gii) @) Gi)

14.

15.
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5ol UTeciieh e WIeiicideh! TehT=al IR

NICIEEEEES ]

(A) STIOMeHR  fgemd  (3Tut=
Fegifi)

(B) Yoo (fEwdde)

(C) Afyrg srfvger (sarfasa
i)
(D) tfmam (Sfswfa)

TTeiel Sire Seea Ao @l feeren
Gehdad I I feren .

e 1 aqre 11
(@) TH. WIS () TR IS
(b) = W Gi) o faswmE
(c) oAsMEH HEal (iii) AT
(d) Tfagmey &weld  (v) @A
Hehd :

@ B (© (@
A @G @ O G
B @ @ @O G
© G O Gv) (i)

D) G (ii1) @) (i0)




16.

17.

In case work relationship when a

client sees the social worker as a
significant person and relates with
him/her accordingly is known as :

(A) Emotional attachment
(B) Transference
(C) Counter transference

(D) Emotional dependence

Match the following pairs and select

the correct answer using the code

given below :
List I List IT

(a) Principles of case () Self-worth
work

() Tools of case work (i7) Clarification

(¢) Philosophical (7ii) Assessment

assumptions of

case work

(tv) Self-determination

(d) Process of case

work

Codes

(@ B ©© @
A i) Gv) (i)
B) @ G G GiD)
© @ G  ® G
M @ @ @ O

16.

17.

DEC-20213/11

HITTE HTd T TN BT TSR -
FHeAT Teh HEequl oAkl AT Tl

TN S[eeed  HIoaTe
(A) Hra-TcHR
(B) IerEsRAT

(C) fordieh wragshum

)R EEIR: AN RIES)

Qe Sl S[eal 1 @elt feeresn
Gehda[d 4 I feren

et 1 et 11
(@) SAfFEE FEET T () WA
(b) Al AT (ii) TR
IR
(¢) =AfRHE HrEra (iii) HIHTH
difcaesh 3TMER

(@) =AfFEs @ gfwa (o) @A
Hehd :

(@ B @ @
A @ii) Gv) (i)
B) @ G G GiD)
© @ O G

D) G  (Gv) @ @

[P.T.O.



18.

19.

20.

Which of the following is not a type

of case work recording ?
(A) Narrative

(B) Summary

(C) Process

(D) Minutes

Diagnostic school of case work was

developed by ................... .
(A) Mead

(B) Jung

(C) Mayers

(D) White

The book “Supervision in Social

Work” is authored by ................ .
(A) G. R. Banerjee

(B) Mary Richmond

(C) Grace Mathew

(D) Helen Perlman

18.

19.

20.

DEC-20213/11

[

GIATAUhT HIVId HfFTHE hRHRE JhR
w2
(A) IUHIHS

(B) 9wt
(C) wfewan

(D) sfaga
Weficddeht vl femcAs fa=m Tuem

A) fae

(B) T

(C) wIg

(D) =rEe

‘gufesH 1 HR aeh | A1 gEieh

(A) . TR sit
(B) &t fmme
(C) U9 Hyy

(D) T HeiEd

10
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21. The principle of continuous | 21. TRR FeKiP= T@ HIRT FafE[
individualization is related to : IR ?
(A) Social case work (A) WEIfSs =il Heam i
(B) Social group work (B) wmferh e i
(C) Community organization (C) |YT |
(D) Social action (D) |IfSrR et
22 Identlfy the Correct Sequence Of 22 le I(\°|°h|H|‘°¢ll du_qi-c“ W a,)_j:"
stages of Group Development : ‘
RS EI LI
(A) Intimacy, Negotiation,
Orientation, Resistance, (A) S, aremEel, e, IfdaR,
Termination
THTST
(B) Orientation, Resistance,
Negotiation Intimacy (B) Tiiierur, 9fdeR, aTemel, Sadis,
Termination Tt
(C) Negotiation, Intimacy,
(C) AR, Sddieh, fdeRr, T,
Resistance, Termination,
Orientation Treron
(D) Orientation, Intimacy, - N N
Y (D) e, g, UfdeRr, dRmEwRl,
Resistance, Negotiation,
Termination IR
11 [P.T.O.



23.

24.

25.

Which of the following is a key skill
of the group worker ?

(A) Role player
(B) Facilitating
(C) Socialising
(D) Mobilising

Which one of the following is an
example of a developmental

group ?

(A) Alcoholics Anonymous
(B) Weight Watchers

(C) Life Skills

(D) Rotary Club

In social group work, ‘labelling’

denotes :

(A) Identifying a member of the

group
(B) Pointing a finger/blaming a

member of the group

(C) Stereotyping a member of the
group
(D) Cornering a member of the

group

23.

24.

25.

DEC-20213/11

TTeftadsh! HITA GHE HIved e

FERTY STEYTh 3R ?
(A) 9Y-ATIEIhR

(B) gfourwra

(C) HMSIIRLT

(D) HEAR JeoaTs[edd iU

JEIcTIeh! IOl T faehTaTcHs® e

R e ?

(A) Sfehrifcrrd Elf™a
(B) =1 g

(C) Sa-wierea

(D) Tl =Tl

HHTS, T wMIASS ‘Adfan’ =

(A) T e 3flesE <0

T e The did SrRgaul/ 3T
HL|

(B)

Tel=Al HadHlslged Teg THS Hed

<0

(©)

(D) T STl hield Jehgul

12



26.

27.

28.

People’s organisations were referred

by Rajni Kothari.

(A) Non-party political formations
(B) Trade unions

(C) People-centred social action
groups

(D) Voluntary organisations

Which of the following skills is not

working  with

crucial for

communities ?

(A) Advocacy skills
(B) Relationship skills
(C) Supervision skills

(D) Conflict management skills

The Civil Society Organizations are

called the .................. .
(A) First sector

(B) Second sector
(C) Third sector

(D) Fourth sector

26.

27.

DEC-20213/11

AT EEATEE T hIgk I

LTSI

IS CRICNIR

(A) TR-9&fig TSehig &

(B) TR el

(C) Thehehfsd @HINSS il Te

(D) wWIdel Geel

S IS TRkl vl hIeTed
HAfcreerer @ ?
(A) |HITSIR AL R

(B) 91 YEefud oI hivied

(C) TII&m v

(D) TS HIEATIAT hI

28. T WA Gl Yeiel e Fellgard

(A) dfeat &
(B) W &
(C) faom &=

(D) 2y A

13

[P.T.O.



29.

30.

31.

‘Community Chest’ is related

7o SR .

(A) Community Participation
(B) Community Problems
(C) Community Awareness
(D) Community Resources

The community organiser in social

planning plays the role of ............. .
(A) Facilitator and enabler

(B) Mobiliser and activist

(C) Fact-gatheres and expert

(D) Social advocate and lobbyist

In research the degree to which an
instrument really measures. What

it claims to measure is called :
(A) Construct

(B) Feasibility

(C) Validity

(D) Reliability

29.

30.

31.

DEC-20213/11
‘S TR’ @ ke Y]
FIMEN ol e ?

(A) HY<E HeHM
(B) 9Y<™@ HHEAN

(C) ®H&™ SN[t
(D) W™ HHIEA

~

g ST T wrEdehdl geid
IfHehT o@errd :

(A) gfawreer sufor 9tk

(B)

e S[eaTe[esd hIOIRT ST

EAR X
(C) dI-Tehedsh AU d5xd

(D) gmafas grefa wmyomu syrfor

“Ww 1A)
GNYA @ HEART STgehal STl
FSder YO B ST, I I ST

(A) =ero
(B) Gursadn
(C) 9eran

(D) foaraEa

14
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32. Match the following for their | 32. Tcilcl Ssi=al T=ARNA HoALTATR
association and select the correct Sirg=ll Qe 3T Wedl feeied HehdrargH
answer from the codes given below : Ay Gehd fHeren

List I List II e 1 At 11
(a) Positivism (i) Control Group (@) FAAET () Tt e
(b) Interpretivism (iz) Accidental (b) faatuEr (i) STHIHH RSl
Sampling fae
(c) Experiment (ziz) Quantitative (¢) 93 (Gii) TEAHE G
R h . .
eseare (@) TR-GWEIar YA (v) TOTCHSE HINEE
(d) Non-probability  (iv) litati
on-probability iv) Qualitative TS
sampling Research
Hehd :
Codes :
A G @) G @@ W w
B) G O @) D) B) @y @ W
©) G G @ G © w w e @
D G G @6 @ @ @@

33. When there is an equal chance for | 33. M foraTdict Ueish Therd FH=AHEA
each unit in the universe to be qHTforSe BrodT T Feft 319, T Al
included in the sample, that type of g
sampling is called :

(A) FegF T
(A) Purposive sampling ’
. : (B) TR-Gwread
(B) Non-probability sampling
(C) Systematic sampling (C) =S g
(D) Probability sampling (D) | T
15 [P.T.O.



34.

35.

36.

The failure to recognise that the
concept is not phenomenon itself is
called ................... .

(A) Ecological Fallacy
(B) Deduction

(C) Fallacy of reification
(D) Induction

Assertion (A) : In quantitative
research, researchers prefer random
sampling method.

Reason (R) : One can use statistical
methods and generalise findings.

Select the correct answer :

(A) Both (A) and (R) are true
(B) Both (A) and (R) are not true
(C) (A) is true but (R) is false
(D) (A) is not true but (R) is true
Social policy aims at :

(A) A continuous reform of society
to
weaknesses of individuals or
groups in that society

in order eliminate

(B) A continuous restructuring of
social structures through

economic policies

(C) A radical redistibution of
economic assets in order to bring

in social justice

(D) A reduction in economic
disparities and financial

empowerment of people

34.

35.

36.

DEC-20213/11

‘Theqdl & T AR’ ® S
SIS RS

(A) dRfeerdsF= qenars
(B) =

(C) Arfaehium=l Tehars
(D) fam=

faam (A) : SR GINYE 9,
TINeh Agfeseh T fHae Tgde wem=
.

®RUT (R) : WINYS® HAITETR! TG
e fTsehuiel WHETIHI0 H& Iehdl.

3k W ferer .

(A) TR (A) 3T (R) <X 37ed

(B) 3= (A) 0 (R) = 3Med

(C) (A) o T (R) Ik 3T

(D) (A) ¥ 3R 90 (R) SR 3TR

ISR GRUTET 8@ % STE 7

(A) fafdme goeTdia et fohar Ter=h
T TATIoATESt 1 FHSIE
Had GHROT I

(B) Mo «RUMGR WIHIfSieh T
A IR )

(C) WHIfSIeh =™ SAOvaEEl e
qUitel ST YASHETON o

(D) smfefsr faomar X w&A areid
anfefer Gaietor Lo

16



37.

38.

Which Ministry is responsible for

child helpline in India ?

(A) Ministry of Women and Child

Development

(B) Ministry of Social Justice and

Empowerment

(C) Ministry of Social Welfare

(D) Ministry of Human Resource

Development

An N.G.O. is registered

under ................. .

(A) Panchayati Raj Act

(B) Societies Registration Act

(C) Cooperative Societies Act

(D) Shops and Establishment

Act

37.

38.

DEC-20213/11

YRAd ‘IEce sodasd’ W & IR

ST SeTeeRl ShI0cdl HATTaT=l

AR ?

(A) Hfgen o o foeh™ H3e™

(B) 9IS =1 9 WIHhI0 Tt

(C) FHNI e Hed

(D) Al FEEA fae™ Here

MR FEI=T R0 eI

et Bd 2

(A) TR US SE]

(B) T iCUit hiIel

(C) HehIl T HiIel

(D) SHM & STRATYAT HTIS

17

[P.T.O.



39.

40.

‘National Policy for Empowerment
of Women’ was adopted in the

year ............. .
(A) 2002
(B) 2001
(C) 1999
(D) 1986

The following are pre-requisites in
order to register a social welfare

organization ................ .

(@) Good intentions and social

consciousness
(b) A Memorandum of Association
(¢) A group of individuals
(d) Aims and objectives

Choose the correct answer from the

following :

(A) (@), ®) and (c)
(B) (b), (c) and (d)
(©) (a), (b) and (d)

D) (a), (c) and (d)

39.

40.

DEC-20213/11

‘T Afge WerHIRIor |’ o
ol EeRe T ?

(A) 2002
(B) 2001
(C) 1999

(D) 1986

HTHITSTeh o T FEAT Feuleh al Eeii]

Td-Iferar e

(@) STH 3T o HHEISR ST
(b) THEet
(c) SeHi=n TS

(d) ©4F I 3|W

Trelldl gy g I e
(A) (a), (b) AT (c)
B) (b), (¢) &AM (d)
(C) (a), (b) A (d)

D) (a), (¢) 3 (d)

18
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41. ASSGI‘tiOIl (A) H Lokpal can act as 41. 1'\ag|'|';|‘ (A) : Jdod {|\y|chﬁ|e,| 5‘0&9|2|o|’(1’\|:|
public vigilance tool provided it is T S T M
implemented with strong political

1 e R weE BN 9Tehd.
will.
Reason (R) : Because it will consist FROT (R) : A WS fer s
mechanism to monitor public money TS URGYIeh I=T0ral FHTST Bl
and transparency in governance.
(A) ST (A) SAfor (R) sRIsR 3Tred SA1for
A) Both (A) and (R t d N
(&) Both (&) and () are true an (R) T (A) ¥ 9% =S 8
(R) is the correct explanation
of (A) (B) =TI (A) AfUr (R) seX 1&g 9T
(B) Both (A) and (R) are true and (R) T (A) & T TR T8
(R) is not the correct (C) (A) SR 3 W (R) & FF %
explanation of (A)
D) (A) R 9 (R) ¥ UK
(C) (A) is true but (R) is false S
_ _ 3
(D) (A) is false but (R) is true

42. According to the Mental Health | 42. HIA(Eh O A{E ST HRIET 1987
Act, 1987, persons with mental TR ¥ @R 3 T
illness do not :

(A) have a right to legal (A) HEYR gfaHfem=n gsh 90
representation (B) SULNMET & STE0
(B) have a right to treatment
(C) foeme h{vgr=n &Fh
(C) have a right to marry
(D) possess legal capacity (D) HTASRIT &l ST
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43.

44.

Match the following and select the
correct answer using the codes given

below :

List ‘A’ List ‘B’

(@) Group counselling (i) Children in need
of care and
protection

(b) Child welfare (it) dJuvenileism

committee conflict with law

(¢) Adoption placement (iii) Special
Juvenile Police
Unit

(d) Booking offences (iv) Juvenile Justice

against children Board

Codes

(@ B) @ (@

A @ O Gv) i)

B) G G @ (iv)

<€ o Gi)  Go) G

M @ O Gii) (i)

The Equal Remuneration Act, 1976
provides for ................. .

(A) Equal pay for equal work of

similar nature

(B) Equal pay for equal work in

respective of nature of work

(C) Equal pay for equal work in

selected categories of work

(D) Equal pay for equal work in

organized sector only

43.

44.
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A Sl ezl S0 Wledt feetedn Fehdl-

I A i e

q-la' ‘A’ -q-la'} ‘B’

(@) HHE FHISIH (i) hTeasll for
TREJUME TR
S A

(b) oA HEA FEA (i) ot deeu
CINEY

() Tush quarE gfshan (i) o =1 difer™
Theh (UH)

(d) AR TEAE (o) T A HEB

g
Hehd :
@ B © (@
A @ ® Gv) (i)
B) @ G @) @iv)
©C o G Gv) G
D G ® Gii) (i)

IF Jdq HIESl 1976, WGl ERET
fad

(A) FHM TEEYTAT HTHTHERE YHH o

(B) hocdEl TEUAT HHMEE T

o

(C) =Tl fafyre Sofren s TuH
ERE|

(D) e Fefed &Il SHIHTETS! A

o
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45. Assertion (A) : Protection of Women | 45 faem (A) : FEfas GEMER s, 2005
from Domestic Violence Act, 2005 et A s o
protects all women in a heterosexual L . )

ForAT shigfoeh fedurT warmr fifesd.
relationship from domestic violence.

&R (R) : A = St
Reason (R) : A woman who is (&)
protected under the Domestic Tearor fred, fo o gEewRt @ e
Violence Act need not be married to TIA 9 ot A SR feess-g g
the man and can be in a live-in- Ted el ol =rerd.
relationship with him.

(A) (A) 2T (R) <&l s 3Ted
(A) Both (A) and (R) are true

(B) (A) TR T (R) 3R
(B) (A) is true but (R) is wrong &
(C) (R) is true but (A) is wrong © ® & W (A) TF S
(D) Both (A) and (R) are wrong (D) (A) 3T (R) Sl T 3ed

46. The process of determining | 4. FUNEOA 9Ud Hisoq=t 9fwan
the impact on society is known TR e
1T . ’

(A) 9HIF =Zh Hodlh YA
(A) Impact factor assessment tool

(B) WIS sgeire GAIeiich
(B) Reviewing social change

C) TREEd Juremd Hedieh
(C) Community impact assessment (©) wgs 3
(D) Social audit (D) HIH  Feharl
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47.

48.

Millennium Development Goals are

to be achieved by which year ?
(A) 2015
(B) 2018
(C) 2020
(D) 2025

The ‘Human Development Report’
which is published annually by the
United Nations Development

Programme has defined human

development as ................... .

(A) A process of increasing

opportunities to earn income

(B) A process of increasing peoples

choices

(C) A process of ensuring human

rights

(D) A process of removing social

discrimination

47.

48.
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TeGIhTe foerra Sfeses e auiadq

Mo Bt ?
(A) 2015
(B) 2018
(C) 2020

(D) 2025

TesT foehtd ShRishHTT diftish ‘ Ha

foeRTd 3TgaTAd’ AFG TRl same

JEICTIHT 3T

o a

[Hood U4 [Hlo

(A) ST arerd "

fHestar=it gfshan

(B) e faei= v drefauarsi
PIER

(C) AFET BFh WEATGd  hodr=l
PIER

(D) ®AITSeh  dqguTe gL HIuATH!
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49.

50.

“Aam Aadmi Beema Yojana” has
been launched to give life insurance

cover to :

(A) Urban landless households
(B) Slum landless households

(C) Aged landless households

(D) Rural landless households

Consider the following statements

and select your answer :

Assertion (A) : People’s participation
is essential for the success of any

development programme.

Reasoning (R) : Education and

awaressess lead to participation.

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and

(R) is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

49.

50.
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JEIcTUehl IV FhRoA heaeh il ' 3T

ARHT g1 WA sfed st
A ?
(A) TS fadH Ha

(B) SUSUgidicd JfHEH e
(C) Jo%h 9HE Hed
(D) IO yfHEH Hea

qerd faummen foeR &eT s o .

e A) : FvEE

IITES| BIUITEIS! AR HSHITT= ! STl

3T

HRUT (R) : o afor ofter Spei-

e HEWIM el

(A) fau™ (A) A0 RO (R) a1 s
3 3ol (R) € (A) & 97 SR
e

(B) faum (A) 310 SRl (R) Sl sIsR
3 90 (R) § (A) = I ®R0
Rl

(C) (A) SR 3§ 9 (R) < e

(D) (A) = 3 (R) s 38

EEALSICIRE X
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ROUGH WORK
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